Dyno Nobel Asia Pacific Pty Limited

ABN 38 003 269 010

Price List

Effective 1 January 2024

Supersedes all previous price lists





DYNO NOBEL AUSTRALIAN OFFICES	3
CONTACT INFORMATION	3
CUSTOMER RELATIONS	4
PACKAGED EXPLOSIVES	5
INITIATION SYSTEMS	7
BLASTING ACCESSORIES	14



DYNO NOBEL AUSTRALIAN OFFICES

Dyno Nobel has offices across Australia. For contact details of local representatives, please contact our customer relations centre in Brisbane, or see our website www.dynonobel.com

CONTACT INFORMATION

Principal Place of Business

Telephone: (07) 3026 3900 Facsimile: (07) 3026 3999

Address: Dyno Nobel Asia Pacific Pty Limited

282 Paringa Road, Gibson Island

MURARRIE QLD 4172

PO Box 3559

TINGALPA DC QLD 4173

Customer Relations

Enquires

Facsimile: (07) 3026 3999

E-mail: crc.team@ap.dynonobel.com



CUSTOMER RELATIONS

Order Placement

Our Customer Relations Team is based in a number of locations throughout Australia. They will manage and oversee the order fulfilment process from customer order placement, sourcing of product, freight, through to invoicing.

Orders are accepted via fax or e-mail. Contact information is available on page 3.

All Sales are on <u>Dyno Nobel's Standard Terms and Conditions of Sale</u>, <u>available on the Dyno Nobel</u> website here.

Product Collection

Dyno Nobel offers both delivery of product and sale of product ex gate.

- Delivered product is priced at ex gate plus the prevailing freight rate at time of delivery. Please contact your Dyno Nobel representative for more information.
- Dyno Nobel does not offer any product on consignment.
- Dyno Nobel can establish bulk explosives delivery depots on mine sites. Contact your Dyno Nobel representative for more details.
- For security and safety reasons, Dyno Nobel no longer supplies product on a cash sale basis. For non-account purchases, please call our Customer Relations Centre.
- All customers must have a licence applicable to the product they are purchasing and Dyno Nobel reserves the right to call for a copy of the relevant licence before it agrees to sell or release the product.

Product Distribution

Dyno Nobel produces and supplies a full range of blasting products, services and technology to customers in the mining and construction industries. Dyno Nobel provides customers with ammonium nitrate products, bulk emulsions, bulk ANFO, cartridge products, initiation systems, electronic detonators and a range of blasting accessories.

Prices are quoted in Australian dollars (AUD) and are GST exclusive. Prices apply for goods exwarehouse in Australia (Helidon, Bajool, Kalgoorlie).



PACKAGED EXPLOSIVES

POWERMITE® PRO, DYNOSPLIT® PRO, and Z-BAR®

The POWERMITE Pro series provides a choice of sizes suitable for a variety of blasting conditions.

The DYNOSPLIT Pro series provides perimeter control blasting in continuous cartridge form, also available as RiGHT® version where hot and/or reactive ground conditions exist.

Z-BAR is a contour product, designed to deliver precision blasting in wet or dry underground developments.

Duadret Description	Product	Mainlet	Unit /	List \$ / Box		
Product Description	Code	Weight	Case	West (Ex Kalgoorlie)	East (Ex Helidon)	
POWERMITE PRO 25mm x 200mm	PW00002502	25kg	215	513.69	534.48	
POWERMITE PRO 25mm x 700mm	PW00002508	25kg	60	494.81	515.60	
POWERMITE PRO 32mm x 200mm	PW00003202	25kg	135	458.18	478.97	
POWERMITE PRO 32mm x 700mm	PW00003208	25kg	38	442.38	463.17	
POWERMITE PRO 55mm x 400mm	PW00005504	25kg	23	414.19	437.16	
POWERMITE PRO 65mm x 400mm	PW00006504	25kg	17	414.19	437.16	
POWERMITE PRO 80mm x 400mm	PW00008004	25kg	11	414.19	437.16	
DYNOSPLIT PRO 26mm x 400mm	DSP0002604	17kg	27m	533.24	554.61	
DYNOSPLIT PRO 32mm x 400mm	DSP0003204	17kg	20m	471.72	493.09	
DYNOSPLIT PRO RIGHT 26mm x 400mm	DSPR002604	17kg	27m	613.01	633.23	
DYNOSPLIT PRO RIGHT 32mm x 400mm	DSPR003204	25kg	30m	899.07	919.30	
Z-BAR 29mm 3.0m	ZB00203030	25kg	12	629.22	648.60	
Z-BAR 29mm 3.5m	ZB00203035	25kg	10	629.22	648.60	

ANFO

Product Description	Product	List \$ / Tonne	
Product Description	Code	West (Ex Kalgoorlie)	East (Ex Helidon)
ANFO P 20KG BAG	ANP000020	3,363.94	3,874.37
ANFO P 500KG BAG	ANP000500	3,346.90	3,741.40



SANFOLD®

SANFOLD is a low density explosives for use in tunnel perimeters.

Draduct Description	Product	List \$ / Tonne West East (Ex Kalgoorlie) (Ex Helidon)	
Product Description	Code		
SANFOLD 50/50 12.5KG BAG	ANSF00012	6,438.91	8,858.18



INITIATION SYSTEMS

NONEL® LP Series

The NONEL LP series provides an effective in-hole initiating system appropriate for underground mining and construction applications. Effective and accurate in-hole long period timing sequences are available, featuring 19 delays ranging from 25 to 8000 milliseconds.

Product Description	Unit / Case	List \$ / Each*	List \$ / Case*
NONEL LP 4.8m	200	6.90	1,380.00
NONEL LP 4.8m	180	6.90	1,242.00
NONEL LP 5.4m	180	7.48	1,346.40
NONEL LP 6.0m	180	8.05	1,449.00
NONEL LP 6.0m	150	8.05	1,207.50
NONEL LP 7.2m	150	10.47	1,570.50
NONEL LP 24m	30	28.19	845,70

^{(*) =} For non-standard lengths, prices will be provided on request.

NONEL® MS Series

The NONEL MS detonator is a millisecond, high strength delay detonator series featuring 28 delays ranging from 25 to 1000 milliseconds The NONEL MS Series is an effective down-hole initiating system appropriate for a wide variety of mining applications. When used in conjunction with surface delays, the NONEL MS Series gives effective and accurate down-hole timing sequences.

Product Description	Unit / Case	List \$ / Each*	List \$ / Case*
NONEL MS 3.6m	250	6.28	1,570.00
NONEL MS 4.8m	180	6.85	1,233.00
NONEL MS 6.0m	180	7.99	1,438.20
NONEL MS 7.2m	150	10.39	1,558.50
NONEL MS 9.0m	120	11.98	1,437.60
NONEL MS 12.0m	90	14.49	1,304.10
NONEL MS 15.0m	75	16.09	1,206.75
NONEL MS 18.0m	60	18.26	1,095.60

^{(*) =} For non-standard lengths, prices will be provided on request.



NONEL® MS HD Series

The NONEL MS HD Series provides added strength for heavy duty applications with a wider selection of lengths and delays. The standard delay range features 28 delays ranging from 25 to 1000 milliseconds. Extended delay range going up to 44 delays ranging from 25 to 8000ms is available in the 24m products.

Product Description	Unit / Case	List \$ / Each*	List \$ / Case*
NONEL MS HD 7.2m	150	13.65	2,047.50
NONEL MS HD 9.0m	120	14.21	1,705.20
NONEL MS HD 12.0m	90	15.92	1,432.80
NONEL MS HD 15.0m	75	18.30	1,372.50
NONEL MS HD 18.0m	60	21.6	1,296.00
NONEL MS HD 24.0m	40	27.86	1,114.40
NONEL MS HD 30.0m	30	36.03	1,080.90
NONEL MS HD 36.0m	30	43.55	1,306.50
NONEL MS HD 45.0m	30	54.80	1,644.00
NONEL MS HD 60.0m	30	75.95	2,278.50
NONEL MS HD 80.0m	30	99.48	2,984.40

Extended delay detonators 29 – 44 are available for Underground mining, conditions apply.

NONEL® EZTL™

NONEL EZTL detonators, used in conjunction with the NONEL MS, MSHD and LP series, provide an effective surface initiation system appropriate for all mining and construction applications.

Product Description	Unit / Case	List \$ / Each*	List \$ / Case*
NONEL EZTL 4.8m	150	9.01	1,3051.50
NONEL EZTL 6.0m	140	9.92	1,388.80
NONEL EZTL 7.2m	125	11.28	1,410.00
NONEL EZTL 9.0m	100	12.43	1,243.00
NONEL EZTL 12.0m	80	14.93	1,194.40
NONEL EZTL 15.0m	70	17.67	1,236.90

^{(*) =} For non-standard lengths, prices will be provided on request.

^{(*) =} For non-standard lengths, prices will be provided on request.



NONEL® MS CONNECTOR™ Series

The NONEL MS CONNECTOR Series provides an effective surface delay system appropriate for mining and construction applications. The NONEL MS CONNECTOR is used in combination with detonating cord to provide millisecond timing.

Product Description	Unit / Case	List \$ / Each	List \$ / Case
NONEL MS CONNECTOR	200	18.85	3,770.00

NONEL® Starter

NONEL Starter is used as a lead-in line from a safe firing position to the blasting location. It can be used to initiate blasts with NONEL detonators or detonating cord. A NONEL Starter consists of a length of NONEL tube sealed at one end and a NONEL detonator and connector block attached at the other end.

Product Description	Unit / Case	List \$ / Each	List \$ / Case
NONEL Starter 100m	16	73.01	1,168.16
NONEL Starter 300m	4	187.57	750.28
NONEL Starter 500m	4	353.81	1,415.24

NONEL® Lead Line 1000

NONEL Lead Line 1000 is a reel-off NONEL shock tube system used as a lead-in line for the blast initiation, where large firing distances are required. The Lead Line initiation system can be joined to other surface NONEL shock tube systems and cut to the required length.

Product Description	Unit / Case	List \$ / Each	List \$ / Case
NONEL Lead Line 1000m	2	668.31	1,336.62

Electric Detonators

The Electric Super Starter is an instant electric detonator housed in a plastic bunch block facilitating easy connection to both shock tube and detonating cord.

Product Description	Product Code	Unit / Case	List \$ / Each	List \$ / Case
Electric Super Starter 4.9m	ECST0000016X	20	20.06	401.20



Detonating Cord

PRIMACORD® 4A, 5A and PRIMALINE® 10A Detonating Cords have been designed for use as surface and downhole initiating lines. PRIMALINE 10A Detonating Cord is used for side initiation of explosives and may be used in combination with PRIMACORD 5A Detonating Cord. The FIRELINE® RDX 8/40 and HMX 8/40 are specialty detonating cords suitable for a high temperature environment.

Product Description	Product Code	Unit / Case	List \$ / Metre	List \$ / Case
PRIMACORD 4-A 3.6 g/m	A310000MA	2x500m	1.42	1,421.68
PRIMACORD 5-A 5.3 g/m	A320000MA	2x500m	1.36	1,362.44
PRIMALINE 10-A 10.6 g/m	A340000MA	2x350m	1.66	1,161.04
FIRELINE 8/40 RDX LS 610M	A539030	2x305m	10.31	6,536.37
FIRELINE 8/40 HMX LS 500/CS	A544010	1x152m	15.96	2,425.92

Extended lead times for FIRELINE products, conditions apply.

Boosters

TROJAN® SPARTAN and NB UNIVERSAL cast boosters are designed to optimise initiation of high explosives and blasting agents. TROJAN RINGPRIME® cast booster is specifically designed for use in angled or vertical up-holes.

Product Description	Product Code	Unit / Case	List \$ / Each	List \$ / Case
MEGAPRIME EDGE 80g	BT8002110	86	5.97	513.42
TROJAN SPARTAN 150g	SP0150EX	48	9.58	459.84
TROJAN SPARTAN 400g	SP0400EXA	20	16.76	335.20
TROJAN SPARTAN 400g EQV	SR0400PDET	24	16.76	402.24
TROJAN RINGPRIME 250g	RP0250	42	14.50	609.00
TROJAN RINGPRIME 250g	RP0250B	42	14.50	609.00
TROJAN NB UNIVERSAL 400g	NBU0400C	20	16.76	335.20
TROJAN NB UNIVERSAL 400g	NBU0400N	30	16.76	502.80
TROJAN NB UNIVERSAL 400g EQV	SR0400P	24	16.76	402.24



Electronic Detonators

Customers can realise considerable benefits from converting to electronic initiators with features including wireless remote blasting and complete timing flexibility.

DriftShot®, DigiShot® and DigiShot® Plus.4G Electronics

Product Description	Product Code	Unit / Case	List \$ / Each	List \$ / Case
DriftShot Starter Detonator 2m	DR4ST007H	100	41.57	4,157.00
DigiShot Plus.4G Detonator 6m	DSP42BPC020H	108	44.93	4,852.44
DigiShot Plus.4G Detonator 12m	DSP42BPC040H	80	48.42	3,873.60
DigiShot Plus.4G Detonator 15m	DSP42BPC050H	60	50.76	3,045.60
DigiShot Plus.4G Detonator 18m	DSP42BPC060H	52	54.26	2,821.52
DigiShot Plus.4G Detonator 24m	DSP42BPC080H	40	60.56	2,422.40
DigiShot Plus.4G Detonator 30m	DSP42BPC100H	32	67.56	2,161.92
DigiShot Plus.4G Detonator 36m	DSP42BPC120H	24	74.80	1,795.20
DigiShot Plus.4G Detonator 46m	DSP42BPC150H	20	83.09	1,661.80
DigiShot Plus.4G Detonator 55m	DSP42BPC180H	16	94.52	1,512.32
DigiShot Plus.4G Detonator 65m	DSP42BPC214H	16	106.77	1,708.32
DigiShot Plus.4G Detonator 75m	DSP42BPC245H	16	119.37	1,909.92
Digishot Detonator 6m	DS42BPC020H	108	30.47	3,290.76
Digishot Detonator 12m	DS42BPC040H	80	34.84	2,787.20
Digishot Detonator 24m	DS42BPC080H	40	40.25	1,610.00

Digishot® Detonators are used with the RANGER system, suitable for quarries and smaller open cut mines,



Electronic Accessories

DIGISHOT PLUS.4G Equipment			Quantity	List \$ / Each
Digionor FL03.40 Equipment				
COMMANDER® KIT	CE4COMMANDERKIT	Kit	1	20,643.78
CE4COMMANDER	CE4COMMANDER	Each	1	11,063.23
CE4 TAGGER V4 (DIGISHOT PLUS.4G)	HT307467	Each	1	6,044.86
DIGISHOT PLUS BENCH BOX (LEAKY FEEDER)	HT306451	Each	1	10,213.55
CE4 COMMANDER BLAST CARD SET (1R2Y)	HT307043	Set	1	80.98
CE4 COMMANDER BLAST CARD SET (1R10Y)	HT307374	Set	1	144.85
CE4 COMMANDER CASE	HT308450	Each	1	1,435.94
CE4 COMMANDER STAND	HT307019	Each	1	172.22
DGPS Equipment				
CE4 2 WIRE TAGGER V1 (DGPS 915MHz)	HT307845	Each	1	7,014.32
CE4 COMMANDER® DGPS V1	HT307847	Each	1	17,735.40
CE4 DGPS CASE	HT308419	Each	1	1,494.11
CE4 DGPS SET	HT308422	Each	1	30,509.45
TRIPOD COMPAC LIGHT BLACK	HT206479	Each	1	224.69
RANGER Equipment				
CE4 RANGER	HT308480	Each	1	9,500.00
CE4 RANGER SET (Includes 2 X rangers, 2 X stands, Case & Insert)	HT308597	Each	1	17,500.00
CE4 TAGGER V4 (RANGER) 2 WIRE	HT308650	Each	1	4,900.00
CE4 RANGER BLAST CARD SET (1-1)	HT307042	Each	1	49.00
Software				
VIEWSHOT®3D	VIEWSHOT3D	Licence	1	1,694.55
BLASTWEB® Equipment				
BLASTWEB BCU	BW303963	Each	1	14.268.15
BLASTWEB BCU UI MODULE	BW303684	Each	1	6,694.97
BLASTWEB BCU POWER SUPPLY MODULE	BW303960	Each	1	1,613.87
ED: NETWORK SPLITTER DR12500	QS200520	Each	1	201.88
BLASTWEB SURFACE BLAST CONTROLLER	BW304810	Each	1	13,811.94
Other Accessories				
Surface Wire Gel Clips – 100pk 374CUR2-C	DS303300	Each	100	0.71
FIBB Block DIGISHOT	R11008	Each	100	1.04
Gel Clip Crimp Tool	DSPCRIMPTOOL	Each	1	117.48



Product Description	Product Code	UoM	Min. Order Quantity	List \$ / Each
DSP HARNESS WIRE - 300m - 3/CAS	DSPWIRE300M	Each	3 cases	173.37
DSP HARNESS WIRE - 500m - 2/CAS	DSPWIRE500M	Each	2 cases	220.13
DIGISHOT PLUS HARNESS WIRE CONNECTOR	HT203752	Each	10	12.54
TERMINATOR 2 - WIRE	QS304340	Each	1	160.82
2 - WIRE DROPPER YELLOW	QS305747	Each	1	62.74
HARNESS WIRE BAG WITH LOGO	HT202587	Each	1	480.40



Blasting Accessories

Product Description	Product Code	UoM	Min. Order Quantity	List \$ / Each
RINGPRIME Spider 64-100mm	LO8001030	Each	70	2.29
RINGPRIME Spider 100-160mm	LO8001095	Each	90	5.14
150 gram Booster Spiders 65-89mm	LO8001085	Each	150	2.98
Red Cap 89mm X 102mm	LO8001045	Each	112	4.67
STEMPAC Stemming Device 76mm	LO8001050	Each	14	58.17
STEMPAC Stemming Device 89mm	LO8001055	Each	10	59.31
STEMPAC Stemming Device 102mm	LO8001060	Each	9	62.74
STEMPAC Applicator	LO8001065	Each	1	115.19
Uphole Booster Retainer (90/Case)	LO8001095	Case	1	462.15
Detonating Cord Cutters	AC8003080	Each	1	49.04
J Style Cord Cutters	AC8003085	Each	1	15.05
Blasting Ohmmeter	AC8001030	Each	1	1,538.59
AUSDET 10 Shot Exploder	AC8001020	Each	1	2,395.14
AUSDET 10 Shot Exploder Key	AC8003110	Each	1	74.14
Twin Bell Wire 500m Red and White	AC8002035	Case	2000m	1,174.76
ANFO Lo-Stat 20mm Semi Rigid Hose	LO8002015	Roll	30m	1,380.05
ANFO Rigid 25mm Loading Hose	LO8002025	Roll	60m	2,914.08
NONEL Starter Gun DNE HN1	5115070117	Each	1	2,795.46
Shotshell Primers	AC8003050	Each	100	0.91
NONEL EXTENDALINE Joiner Kit	AC8003095	Kit	1	26.23
DYNOSTART™ DS2	5115080052	Each	1	2,611.84
Electrode for DynoStart	5115080056	Each	1	199.60
DYNO TRACKER	LO8004040	Each	1	336.47

[®] DYNO, GROUNDBREAKING PERFORMANCE, POWERMITE, SANFOLD, DYNOSPLIT, RIGHT, Z-BAR, NONEL, PRIMACORD, PRIMALINE, FIRELINE, TROJAN and RINGPRIME are registered trademarks of the Incitec Pivot/ Dyno Nobel Group. BLASTWEB, COMMANDER, DRIFTSHOT, DIGISHOT and VIEWSHOT are registered trademarks of DetNet South Africa (Proprietary) Limited. MEGAPRIME is a registered trademark of Blast-Tech Australia Pty Ltd.

™ EZTL and DYNOSTART are trademarks of the Incitec Pivot/ Dyno Nobel Group.

RANGER is an unregistered trademark of DetNet South Africa (Proprietary) Limited (trademark in process of registration).